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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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=23t| 840.0 (7% 210.0 3EHKEC: 3000.0, PH: 6.4

LOREBRTC R IR AN (120 vs 55.0))

ZRIASLPRIERE66. 0 ml.

REFREMIPH (10.34) 5i&%EPH (6.5) RERK, BHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE

REREEBIEC (2533.0) 5FMEC (3250.0) REKK, HHE
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=2it| 840.0 (7% 210.0 3EGHKEC: 3012.0, PH: 6.4

LOREBRTC R IR AN (120 vs 55.0))
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06:55 55 30.0 5| {Ri%@06:55 REFEF (KHAERE)
07:55 55 30.0 [2=| 1Ri%e07:55 KEIEF CGRAEESE)
09:30 55 30.0 PR {Ri%@09:30 RFMIZHF (KAL)
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14:55 55 30.0 5| RiRe14:55 REIEF (REERSE)
16:15 55 30.0 5| RiRe16:15 REIEF (REERSE)
=it 440.0 (8%) 240.0 32 UHKEC: 3100.0, PH: 6.5

FERGERIPH (10.34) 5igFEPH (6.5) REK K, AT
FEREPH (10.34) 5FPH (6.5) REKK, AT
REREBIEC (2533.0) 5FMEC (3090.0) REK K, HHE

E3&EC (2112.0 vs 2375) {RIK
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